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ALIGNMENT ( 100 of 100 points )
Key

Complete the following table for missing stations and elevations.
The first curve is an unequal tangent; the second curve is equal tangent.

STATION ELEVATION
13+50 422.50
14+00 424.00
14495 426.85 +3.000%
15+00 427.00
15+50 428.37
16+00 429.54 \J
16+50 430.50 PVI =17+20
17+00 431.25 PVI Elev. = 433.60
17+20 431.49 Length 1 = 225.00’
17450 431.71 Length 2 = 125.00’
18+00 431.53
18+45 430.79
19+00 429.55
20+00 427.30 —2.250%
21+00 425.05
22+00 422.80
22+40 421.90
22+50 421.69 \J
23+00 421.16 PVI = 23+40.00
23+50 421.47 PVI Elev. = 419.65
24+00 422.62 Length = 200.00°
24+40 424.15
25+00 426.85
26+00 431.35 +4.500%
27+00 435.85
28+00 440.35
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Hi Pt = 17+61.67
Hi Elev. = 431.73

Lo Pt =23+06.67
Lo Elev. =421.15



